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Paner-11
L :1“'5 cubes ?f:;dgcsri ¢m, 4 ¢m and 6. If the sum of two numbers is 100 and
e are melted o form a big cube. their difference is 50, the ratio of th
The ratio of the sum of the tolal . )
surface of the three cubes and the total
surface of the big cube is (@ 2:1 b 3:1
ay 2:1 (b} 3:2 fc) 4:1 )y 5:1
{cp 25:18 (dy 27:20
_ 7. If the price of tea goes up from ¥ 200
Z. A pime number between [0 and 40 per kg o T 250 per kg, what is the
femains  unchanged if its digits are percentage by which a man must
reversed. The square of such a number reduce the consumption so thal he
i continues to spend the same amount
@ 121 on lea ?
(b} 424 {@) 25 percent
fc) 1089 (b) 20 percent
{d)  None of the above -
{c) 28 percent
3. Ram is taller than Shyam, but shortes (d) 30 percent
than Mohan. Ali is shorter than John
and John is not as tall as Shyam. If ail 8. In a class of 100 students, 35 students
of them stand in a row according 1o their failed in Mathematics and 25 studepte
height, who will be in the middle 7 failed in English. If 15 students fajled
(2) Mohan {b) Ram in Mathematics and English both, what
() Shyam (d) John s the number of students, who passed
_ in both the subjects ?
4. Aisbrother of B and M; G is mather {a) 40 {b) 45
of B; F is father of A. Which of the ) 55 @ 60
following statements is not correct 7
(8) B is brother of M. . .
(B) Ais father of M. 9. Two poles of heights 6 m and 11 m
{t) Giswife of F. stand on a flal-ground. If the distance
[d) Ais son of F between their is 12 m, what wiil
- be the distance Botween their tops ¥
@ e salary of “B? i 18% more than {a) 12m (b) 1im
he salary of *A° Eﬂdﬂlﬁ salary of *C’ () l4m {d) 15m
e 10% less than - _ sarary of ‘B,
o nof the- s
'r;:cf[.j! fuﬂﬂm@mmhﬂrﬂs will 0, A number wl lﬂiﬂﬁ h}ra}% R

.:-The sa]grjr of B4

e

H0) The salary of ‘Ciiithe

the remamder of 75. Whafw;llhe the
remainder  if tT:m _same, number i
divided by 379"
@ 1
(c) 8

) 2
@ 1
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11.

12.

13.

14.

Takang the four veftices of a square as
centres, four circles of equal diameter
are drawn in such a way that each
circle touches two other circles, as
shown in the figure below

If' the area of the shaded region is
]3%¢m1, what will be the radies of

each cirele {taking n = %) 7

(a) 25cm (h} . 4.0 em
{c) 75em (d) a.lem

In a shooting competition, the AVETHEC
score of 8 competitors was 87 points.
If two fop competitors whose average
score differed by 2 points were absent,
the average would have been 55
points. The top score was

{a} 9% by 94

fe] o4 (dy 92

Six toys look alike, but one of them is
lighter than the others. What is the
minimum number of times, a balance
15 to be used to find it 7

(a) 1

(b) 2

(c) 3

(d). Morg than 3

If B+D=2(,
B+C=2D,
A+C2B+Dand

A+DZ2B 4
the relatiogn between A, B, Cand D is
(a) B>D>C=>A

(b) -A>D>C>B
() B>C>D>A
(d) ‘AsBED=C

15,

14,

I

18.

19,

20,

The surface EETG of a cube is 216 sq. m,
What is its volume 7

(a) 512 cu.m, b} 480 cum.
(&) 216 cu.m. (d) 10 cum.

A path of uniform width of 2.5 m runs
outside a square field all around. What
will be the length of the side of the
square ficld, if the arca of the path is
615 8. m 7

(@) 60 m by 55m

(€] S0m {d 70m

Two pipes can fill a cistern in 20 and
30 minutcs each respectively. When
bath the pipes were opened together to
fill the cistern, it ook 3 minutes longer
than usual to fill up the cistern because
of a leakage through a hole in the
botiomy of the cistern. IF the cistery is
full, in how many minutes, it will gel
emptied becawse of the leakage ?

(@ 10 minuees (b} 20 minuies

(e} 30 minutes (d) &0 minutes

A cerain amount of maney become;
¥ 944 in three years by eaming simple
interest. If the rate of interest is
increased by 25%, the amount would
become T 980 during the same period.
What was the principal amount 7
&) %600 (b) T 800
(© ¥860 (d) T 700

A boal travels 10 kms in one hour
down the stream and 14 kms in 2
tiours up the stream. The time it will
lake 10 travel 17 kms in still water is
{2) ¢ 1 hour ) 1 hours
“Nc) 413 hours {d) 2 hours

Amange the following fractions in
nding order and select the correct

r ffom the codes given below :
5}ﬂil 25
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21.

2.

3.

4,

25,

The difference between the gnﬁml
and the least numbers of five digits
formed by using the digits 0, 2, 3, 6
and 7 once, is '

(a) 35905 (b) 50953
(c) 559353 (d) 95821
The sum of x.and y is three times their
difference.  Then the wvalue of
_ dxy i<
20 ~ v
2
(a) 3 by 1
3 5
() 3 (d) 3

If the following words were arranged
in ascending order of magnitude, with
which letter the word in their middle
will end ?

“minute, hour, second,  wear, day,
month, week™

(a) d ®)

{©) @ k

A big canon comfaining mangoes
weighs 150 kg, while inside it there
arc eight small cartons and in cach one
of them mangoes of equal weight have
been kept. If the weight of the big
carton when empty is 6 kg and that of
each small carton is 2 kg, what is the
weight of the manpoes in each small
carton 7

(a) 15kg k) 16kg

(e} 10kg (d) " 12kg
Which one of the following sets is
different from others ?

(a) 41,5,3,47
() 11,3,13,17
{c) 43,21,7,18
[dy11,7,3,17¢

26.

27.

18,

29,

What is the multiplicative inverse of

-5,
@ 2 ® -2
@ -2 @ 2

A point is selected at random inside a
rectangle  and  perpendiculars  are
drawn on cach side of the reclangle
from the point. The total length of
these perpendiculars is 40 cm. I one
side of the rectangle is ? times the
other, what will be the area of 1he
rectangle 7

[ 300 sq. om,

(b)~ 350 &g. I,

(e} 192 sq. cm.

{d) Mone of the ahove

"A' bought 13 shirts of T 50 zuch, 15
sweaters of ¥ 60 each and 12 ties of
¥ 65 cach. His average expendituce por
article was

{a) T5825
{c) Tadls

(b) T 59.00
(d) T61.20

For a certain vear, the percentage of
the total population by age-group is as
follows -

Age-Group in years Percentape

15 years or less My
16-25 17.75
26-135 17.25
36— 45 14.50
46~ 55 1425
56— 65 5.12
66 and above 1.13

If 200 million people were-below 36
years in age, approximately how many
million will be in the age group
56=G57

(a) 12.75
(b) 14.90
(©) 1575

{d) None of the above
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1.

331-

The following table gives thefevenue
earntd by a State in lakh rupess during

the National Games :
Revenue in
lakh rupees
Sale of TV Rights 540,00
Sale of tickets 12500
Receipts from the teams ~ 115.00
Donation 20.50
Advertisements [0
Royalty cic. 729
What iz the eaming  from

advertisements as the percentage of the
lotal revepue

(a) 8.2

(bl 7.1

¢) 6.7

(d)}  Noneof the above

. . 756
On simplification 282 becomes

@ 3 ®) 3
1] 17
(e} 7 d) 53

The growth rate in India's GDP at
market prices has been as follows -
1999 - 2000 -

2000 - 2001 194
2001 - 2002 5.99
2002 - 2003 4.11
2003 - 2004 5.61
2004 — 2005 7.09

The appimpﬁate measure for derving
the average growth rate is

(a) AM, (b) GM
(c) HM. (d) L@ﬁ}
The arithmetic mean  &f gl
observations is 35, If each nufither is

mcreased by 5, what ‘will 86 the
arithmetic mean 7
(b). .40

(a) .32
fc) 43 (d) 60

“34.

35,

36.

3?!

The following gives thie data regarding
atcidents oceuming during a certain

period :

Mumberof 1 2 3 4 5 ¢
accidents

Frequency: 192231 9 3 3

On how many days, three or less
accidents occumed

(a) 8 () 355
(] 68 dy 72
The following table gives  The

distribution of sudents according o
the marks obtained in a paper -

Marks Number of Students
Below [0 15
Below 20 18
Below 30 05
Below 40 i4
Below 50 100

What is the number of students gelting
30 or more than 30 marks 7

(a) 35 (h) 43
(¢) 50 () 65

Consider two investments A and B

such that the coefficient of variation

for investment A is 30% and the

coefficient of variation for investinent

B is 7.5 %. Then

(a) Investmént A is more volatile
than B

(b} Investment B is more volatile
than A

(c) Nothing can be concluded

(d) None of the ahove is correct

As feet are to shoes; 50 head 4s 1o
(a) umbrella (b) ‘comh
{c) hat (d) hair
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38,

39,

40,

41.

42,

The total population consisting of
chuldren, adults and old persons is
0 K. If in a pic-diagram, the angles
subtended by them at the centre are
100°, 180%and 80° respectively, what
will be their respective numbers 7

(a) 250K, 450K, 200 K

(by 210K, 490K, 200 K

() 200K, 450K, 250 K

{d) MNone of the above

Which of the fllowing can be the
graphical representation of daa °
Select the comect answer from the
e given below ;

L. DBar Diagram

2. Frequency Curve

3. Frequency Table

Codes -

(@) 1 only

{b) 1 and 2 only

(¢} 1,2and3

{d) 2 and 3only

If the standard deviation of varizble X
is o, then standard deviation of ¥ = 5%
will be

(8 o () Sa
© T @) o+5

Three unbiased coins are tossed. The
probability of getting exactly two
heads is

(@) 38 (b) 4/8

(e} 5/8 (d)y 7/8

An organization has .80 male and 20
female employees. The ‘average salary
of male employees is ¥ 25,000, but the
average salarydi female employees is
T 17,000, What will be the combined
average of the salary 7 *
(&) T21,000 %z_fﬂmﬂm
© 723400 (@) -7 19,500

45,

46,

47.

The distribution of ihe population of a
city according 1o literacy  is  as
follows :

Literate Men 15%
Literate Women 33
Nliterate ben 24%
Miterate Women 8%

If the total population of the city is
2,350,000, how many more men are
iterate &s compared to literate women 7
{a) 10,000 (b) 5,000

(ch 1,500 (d} 500

The  arithmetic  mean of 50
observations was found to he 3o, N
was later on discovered {har i Wis
wrong because an observation of 48
Was wrongly taken as 23, What will be
the correct mean 7

{a) 352 () 3509

{c) 365 (d) 368

Which  of the following  isare

statistical statement(s) ? Select the

correct answer from the codes R

below

[ Kalidas was a great poet,

Il The average age of the students
in a college is 20 years.

Codes :

{a) Tonly

(b) Ilonly

{c) Both I and 11

(d} Neillge-r'l_ncr; il

IFK = ﬂt*i;what is the probacosy of

drawing flitee aces from a pack of

(a) 4K

by 528,

(e) 3K,

(d} Mogpe ofthe above

[f'.tjg' $**“ x + 1is divided by
iinder will be
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49,

50,

51.

Consider the following Venn diagram
draven after conducting a survey of 50
persons, mest of whom read one or
ITOTG MEWSpapers |

#“
(NN

we
Mews paper 11

Mews paper [(]
In a population of 10,000 persons, how
many can be expected 10 be reading at
least two pewspapers 7
(a} 5,000 (b} 5,400
{c) 6,000 {d) 6,250

If x boys and y girls sit in a row
randomly, in how many ways can all
the girls sit together 7

(@ (x+1)y!

(b) x!y!

{ed xly-1p1

(d) None of the above

What will be the sguare rool of
(2722 - 1289 7

(a) 144 (b)
(c) 240

200
(d) 260

If & pemson travels three < equal
distances at 2 speed of x Jma
kmshr and z kmsthr respectively, the
average speed for the wlmif;jp% is
) —3E
xytyztar
b g~
ytyztaz
3
TEy+z

i"hz'l'i

(e

(d)

52

54.

Which of the following statements is

comect about a Cumulative Frequency

Table 7

(8) It can only be a “Less thar
table,

(B) It can only be a “More than”
lable,

(c) It can be both “Less than™ Lable
as well as “More than™ table,

{d) It is neither a “Less than™ table
nor a “More than™ table,

What will be the value of
log; {log. 25 + log 125} 7
(a) 2

(b} 1

(e} 5

{d} Mone of the above

Three years ago, the average age of X
and Y was 18 years. With 7 Joiiing
them, this average age became 22
years. What was the age of *7" 7

(&) 30 vears (b) 26 vears

() 29 years (d}  29Y% years
A car covers a distance of 150 kms at
an average speed of 50 km/Mour, but
relums at an  average speed of
30 kmvhour. What has been 1+, BVErge
speed for the whole journey 7

(a) 355 kmour

(b} 36 km/hour

{e)  37.5 km/our

(d) 39 kmvhour

A man bought some rice at iie vl of
v 15/kg and some other quantity at the
rate of ¥ 24/ke. He mixed theii ind
sold at the rate of ¥ 21.60vkg gaining a
profit of 20%. What was the respective

ratio of the two varieties 7~

(@8 1:2 (b) 2:1

© 3:2 )y 2:3

Mean deviation is minimume  with
respect to

{a8) Mean (b) Moo

ﬁ} Median (d) Rarge
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58.

59.

60.

Consider the following and select the

comect answer from the code given

below

Asgertion [A) : The Union Finance
Commission does not have any
role in considering measures for
giving financial assistance to

local bodies,
Rgunnr&R} : In spite of the
73" and 74" Constitutional

Amendments, local government
cantinues to be a state subject in
the Sevenmth Schedule of the
Constitution,

Codes :

{a) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(b)" Both {A) and (R) are true, but
(R) is not the comrect explanation
of (A).

{e) (A)is true, but (R) is false.

(d) (A)is false, but (R) is truc.

Which one of the following

expenditure is pot charged on the

Consolidated Fund of India ?

{a) Salary and allowances of the
Chief Justice of India

(b) Salary and allowances of the
Comptroller and Auditor-General
of India.

(¢) Salary and allowances of the
Prime Minister of India.

(d) -Salary and allowances of the

{hairman of the Union Public

‘l‘%ﬁmdem of India is elected by

{2)" “Réjya Sabha members only
o R L .

b) o LAk Sabha members only
fbers of the State ﬁissemh]:ies
iy Lk Sabha anly
{di i The elected members of Fle
a Sabha, Lok Sabha and
izpislative Adsemblies of the
:E ‘I't:'ﬁr

61.

6.

63.

Which one of the following statements

is correct

(a) A Money Bill is introduced in
the Rajya Sabha.

(b} A Money Bill can be introduced
in either of the two Houses of the
Patliament.

{c) A Money Bill cannol  he
introduced in the Lok Sabha.

(d) A Maney Bill is introduced in
the Lok Sabha,

Which one of the following statements

aboul Rajya Sabha is correct 7

{a)  ltisnot subject to dissolution.

(b} Ts members are  chosen by
direct election from temitorial
constituencies in the States.

{c) Tt is required o choose, a5 soon
as may be, a member of the
Rajya Sabha to be the Chairman
thereof

(d} The Attomey General of India
does not have the right to speal
in Rajya Sabha.

Indian Parliament consists of

(a) Lok Sabha and Rajya Sabla

(b} Lok Sabha, Rajya Sabha and
Prime Minister

(c)  Speaker and Lok Sabha

(d)  President and both the Houses of
Parliament

Which one of the following articles of
the Cnng;ﬂmtiun de:a.li_ng with ihe
Fundgmental Rights is directly felated
to the exploitation of children ?

(a) 17 (b) 19

(¢) 24 (dy 25

India" hds borrowed “the concepi of
coricurrent list from the Céhstinitiow, ~1
{a) USA (b} Switzerdan.
(e} Australia  (d), USSR
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66.

7.

68,

Which one of the followirig is not a

featuré of Indian pelity 7

(a) A Governmént following the
" Constitution

(b) Democratic Government

{c) Ruleof Law

(d) Authoritarian Government

Which one of the following Acts led to
the separation of Burma from India 7
(a) The Indian Councils Act, 1909
(b} Govemment of India Act, 1919
{c) Government of India Agt, 1935
{(d} Indian Independence Act, 1947

Which one of the following statements

I8 not correct regarding the power of

the Parliament to legislate with respect

o a matter i the State list?

{a) The Rajya Sabha has to declare
that 1t would be necessary in the
national interest

(b} A resolution has to be passed by
Rajya Sabha by not less than
two-thirds  of  the members
present and voting,

(¢} The legislation could be for the
whole or any part of the country

{d) Only the Rajya Sabha can make
laws with respect to a matter in
the State list in the national
interest.

Which one of the following is not

correct in the matter of formation of

new States 7

(a) Parliament may by law form a
new State.

(b)  Such law shall contain provisions
for the amendment-of the First

Schedule and - _the * Fourth
Schedule of the itution.

{c) Such law shall be' des
an  amendment © of .. the
Constitution for the purposes of
article 368.

(d) Ne Bill for endg “guch faw
shall  be ini I8 in - the

Parliament unlgsssit has been
referred to the fefislinire of the
State, WH‘I}EEH-J . "Fg or

name is affected,

0. Which one-of the. follpwing is correct

71,

72,

with regard to the pojver to review any

judgement pronounced or order made

by the Supreme Court of Tndia ?

(a) The President of India has (he
POwer o review  such g
Judgement or order.

(b) The Supreme Court has the
power o review il own
Judgement or order.

(c) The Cabinet has the powcer fo
review such a judgement or order
with the permission of (he
President of India.

(d)  The Supreme Court does na
have the power to review its awn
Judgement or order,

Which one of the following is noi
correct with regard o the clections to
the Lok Sabha ?

{a}  The elections are on the busis of
adult suffrage

(b} The Elecion Commission i
required to conduct the elections.

(2] The electoral rolls are prepared
under the direction and conirol of
the President of India.

(d)  On the request of the Election
Commission, the President is
requited to make available to the
Election Commission such staff
as_may be necessary ior (he
discharge of its functions,

Who am:m?tﬂm following has the

power  to ‘Withtild assent 1o a Bill,

(a)
(h}. e l FFE:
(e} o E

10 |
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13, Consider the following statements and 7. Match List — I with List - IT ang select

sclect thecorrect answer from the codef
given below :

the correct answer from the code given
below the lists :

I.  The executive powsr of the List -1 List —T1
ﬂ’:;ﬁm vests m the  Prime {Political Pariy) (Year of

2. The Friréw Minister is appointed Formation)

: by the President. ) A CPI I 1972

3. The Prime Minster is the head of B CPm 2 1920
the Council of Ministers. C. AIADME 1 1954

4. The Pime Minister, at the time D, Telugu Desam 4. jog?
of his appointment, need not be a Codes :
member of either House of )
Parliament. A B € Db

Codes : a] 2 3 1 4

(2} Only 1,2 ard 4 are correct. ) 3 2 4

(b} Onlyl,2and 3 are correct. fe) 1 =2 i 4

(¢} Only2, 3 and 4 are corect, () 4 I 12

(d)  Only [, 3and 4 are comreet,

74, The ex-officio Chairman of the Rajya
Sabha is

{a) The Vice-President
(b)  The President

{c)  The Prime Minister
{(d) The Speaker

75, Fundamental Duties of the citizens of
India are enumerated in

(a) Part [of the Constitution

{b) Pari[lof the Constitution
(c)  Part Wl of the Constitution
(d) PartIV Aofthe Constitution

76. Who amongst the following . attends

the Meetings of the Public,
Commi E‘%& fi'ﬂ}i::f'éi-liam nt ?

(a) Attoracy General of India

(b)  Solictior General of Ifidia

{c) Compiroller and Auditor-Géneral
of ladia

(d)  Nogeof the aboye

T8,

Article 371 of the Constiigting makes
special provisions of which of the
following States 7

(a) Jammu & Kashmir

{b) Maharashtra and Gujarat
{¢) Nagaland

W) Andhra Pradesh

When did the Indian Constituent
Assembly meet for the first time ?

() 26 January, 1950
®) 15 August, 1947
() 9 December, 1946
{d} 19 November, 1949

80 . Which one of the :l‘ﬁHI;ﬁu'ing terms does

in the Constitution of Tndia 7
{aF Annual Financial Statement
fhapsg. .

fg,.-ﬁi’mpﬂﬁﬂnﬁﬂm

{dV' Consolidated Fung a1 India

11 |
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81

83.

84,

The principles for clectiop to the State”

Legislatufes include

1. Ithill be on the basis or adu
suffrage,

2. There will be only one electoral
ol for  every territorial
constituency,

3. Religion, race, sex cte will have
mo place in the formation of
electoral roll.

4. The Political parties will be free
to have their own norms.

Select the correct answer from the

given code :

Codes ;

() 1,3 and 4 (b) 2.3 and4

{c) I,2and3 (dy  All the four

Which one of the following is in=List — [I1
concurrent  List of the Sewventh
Schedule of the Constitution of India 7
(2) Criminal Procedure

by Police

(¢} Prisons

{d) Public Order

Who amongst the following had never
been the Chief Minister of any State
before becoming the Prime Minister of
India ?

(a) H.D. Deve Gowda

(b} P.V.Narsimha Rao

{£) Chandra Shekhar

(d) Morari Desai

The country from where the concept of

Public-Inferest Litigation originated is
(a) Australia (b) India
(t) US.A. (d) UK

Who amongst the following advised
ﬂaﬁillil‘!m ‘dishatided s & political

AL L

party dftér peidenice of India 7
[Hj B.ﬁ'ﬁ l"Tl. ¥

(b) Jai Prakagh

(c) Agharya Kfipalani

86,

87.

3 9&

90.

o1,

Which of the following States does not
have any Panchayati Raj Institution ?
{a) Assam (b)) Kerala

{c} Nagaland {d)}  Tripurz

Match List — I with List - Il and select
the correct answer from the code given
below the lists :

List -1 List — 11
{Article of the (Subject Matier)
Cunstitution
of India)
A 54 1. Appointment of
a Chief Minister
B 75 2. Appointment of
a Governor
. 135 3. Appointmeni of
the Prime
Minister
o 164 4. Election of the
President
Codes :
A B L 1
fay | 2 3 4
(b) 4 3 2
() 2 1 3 4
d)y 1 2 4 3

The National Rural Health Mission
aims to reduce infant Maortality Rate to
(a) 30 per 1000 live births by 2012
(b) 30 per 1000 live births by 2014
(e} 35 per 1000 live hirths by 2012
(d) 35 per 1000 live births by 2014

Which of the following is not a Kharif

Crop 7
{a) Arhar(Tur) (b) Gram
(c} DMaize {d) Paddy

The number of public sector banis in
India (excluding State Bank of india
Group) is presently

{(a) 28 (by 27
(c) 20 (d) 19

In the Union Budget far 2011-12,
which one of the following sectors has
been allocated largest outlay 7

{ag Rural Development

(b) Social Services (excluding Rural

e

Hpusing)
Ec) Energy
d) Transport
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82,

93,

95,

96,

27.

98,

On which date was the new Whaolesale
Price Index with 2004-05 as the base
vear released ?

(a) 14 September, 2010

(b} 2 October, 2010

) I January, 2011

(d) 1 April, 2011

The sex-ratio of child population (0-6

vears) in India since 1961 has been

{(2) continuously decreasing

{b)  continuously increasing

{c)  almost constant

{(d) initially increasing and later
decreasing

RESIDEX, an index of residential
prices in India, was launched in the
yoar

{a] 2001 (b) o4

(c) 2007 ) 2008

As on March 31, 2011, which one of
the following States had the largest

number of registered factories 7
{a}  Andhra Pradesh
(b}  CGrujarat

(¢} Maharashtra
{d) Tamil Nadu

Which one of the following villages is

the first Adhargaon under UID scheme 7

{a)  Belha (Pratapgarh, U.P.)

(b)  Thanjar (Ajmer, Rajasthan)

{c)  Shaukatpur (Patna, Bihar)

{d) Thembali {Mandurhar,
Maharashtra)

Which of the following gives the
correct  sequence -of the  séx-ratio
ﬁﬂl”iﬂdml’ﬂaﬁjﬂgﬂl‘dﬁ'?_

{a) hdia,Clthn,Pakislan,,Eanngdeﬂ:
(b) Bangladesh, India, Pakistan, China
(¢} China, Pakistan, Bangladesh, Indi

(d) Bangladesh, P [ China
KG-D6 Basin, which ggsaneen mn the
news since April, 2005 8 large
reserves of

{a) Coal (b) Trude oil
(e} Gas (@) Lrgnil

Wr

1040,

101.

112,

103.

The chrect full form of PVR cinema
i5

{a) Priya Village Road Show

(b} Privam Videos & Reviews

ic) Parvati Videos & Reviews

{d}) Privam Village & Boad Show

In which State, India’s largest MNaphilia
Cracker Plant was naugurated by
Union Petroleum Minister in February
20117

{a) AP (b} Haryana
{c) Kamataka (d) Orissa

As per latest Educational Development
Index, released in February 2011,
which are the four States at (he lop
(a)  Kerala, Delhi, Haryana, Funjab
{b)  Kerala, Delhi, Bihar, U_P,
(e} Kemala, Tamil Nady,
Haryana
{(d)  Kerala, Tamil Nadu, Pumjab, Delbi

Dethi,

Which one of the following has leen
assigned the highest weightage by the
Thirteenth  Finance Commission of
India while recommending devolution
ol Union taxes amongst States 7

() Area

(b} Fiscal Discipline

{c) Population

{d}  Fiscal Capacity Distance

Which of the fallowing reveal
infrastructure Argas i5 not coverad in
the Bharat Nirman Scheme of Coniral
Government 7

{a) Irrigafion
{c) Sanitatian
(d) Housing

i overnment of
I, the per capita

by 14.5% i
per  capila

(<)

T 46,500
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105.

106.

107,

108

109,

According to the announcement
by Government of India in March,
2011, which State / 1I.T. recorded
the highest per capita income during
2009-10 7

{a) Chandigarh
(b} Delhi
{c) Goa

{(d} Maharashira

Which one of the following items has
not been granted protection under the
GeographicalIndications Act, 1998 7
{a) Lucknow Clikan Crafi

{b) Banarasi Sarces

{c}  Darjeeling Tea

(d)  Surkha Guava of Allahabad

Which of the following States has the
largest reserve of copper ore ?

{a) Bihar {b)  Jharkhdind
{c)  Kamataka (d) Rajasthan

Investment limit for rnicTo-enterprises,
provided for in the Act passed in 2006
is

{a) ¥ 10 lakhs
(b} T 5 lakhs
{e} ¥ 2 lakhs

(d) MNone of the above

Consider the following stalements and
select the correct answer from the code
given below the statements -

Assertion (A) : Zero-Base  Budget
has been introduced in Tndia,
Reason (R) : Zero-Base Budget

technique involves a crilical
review of every scheme before a
budgetary provision is made,
Codes ;
(a) Both {A) and (R) are true,
(R) is not the correct expling
of (A).
(b)  Both(A)and (R) are true dikl (R)
is the goirect Kplanation of (A).
(e)  (A) is true, but (R) is Talse,
(d)  (A)is Talse, but(R) is true,

110,

111,

112.

113.

114,

115.

Poverty in India 5 years ago was statea
to be 37.2 percent. According to data
released by the Planning Commission
in April 2011 poverty in Tndia in
2009-10 has declined to

{a) 30% (b) 31%

(e} 329 (d) 34%

Which one of the following statements

is nat correct 7

(a) RBI is the Central Bank of the
country,

(b)  RBI is the banker of the Central
and the State Governments.

{c) BBl is the custodian of the
couniry’s  Foreign  Exchange
Reserve.

{d) RBI was established in 1949,

Paper currency was first started ir
India in

(a) 1862 (b)
(c) 1601 (d)

1542
1880

Which onc of the following items 1
not included in the Current Account of
Balance of Payments in India 7

(a) Exports

(b)) Imports

(c) Income from non-factor services
(d)} Net non-resident deposits

Kundankulam Nuclear Power Plant is
being established in

(a) Tamil Nadu

(b) Kerala

(€)  Andhra Pradesh

(d) Kamataka

Which'che of the following is niot an

objective of Monetary Policy ?

(a) Brice Stability

(b) -Econormic Stability

(c) Eﬁpihbiﬂ"diéhiﬁﬂlinn of Income
and Assets

(d) . Forcign Exchange Rate Stability

14 |



UPPSC Main Exam 2011: General Studies Question Paper I1

JAGRAN

£ Josh

116.

17

115,

114,

1240.

I11.

122,

The first export processing zone of
Asia was sel up in 1965 in

{a) Al Hilal (b} Kandla

{¢) Moida (d} Singapore

Which one of the following States/
Union Territories has the least number
of females per 1000 males as per
provisional figures of Census 2011 7
{a} Daman and Diu

(b} Dadar and Nagar Haveli

{c)  Puducherry

{d) Haryana

Which one of the following is used as
a moderator in a nuclear reactor 7

{2} Thorum

{b) Heavy water

(c) Radium

{d} Owdinary water

Azolla is offen used as biofertilizer,
because it is associated with

{2} Blue Green Algae

(b} Red Algae

{c) Fungus

(d) Moss

Which of the following is used as
laughing gas 7

(2) Mitrous Oxide

(b} Nitrogen Dioxide

(¢} Nitrogen Trioxide

(d) Nitrogen Tetraoxide

123

124,

125,

124,

127,

128,

Opwim is obtained from which part of
the poppy plant ?

{a) Flower

(b} Leaves

{¢) Unripe Fruits

{d} Roots

Which of the following chemicals is
used for fruit ripening ?

(2) Sodium Chloride

{b)  Calcium Carbide

{c) Potassium Chloride

(d) MNonc ofthe above

Amongst  the following  flying
organisms, which one does ot belong
to the group, Aves 7

a2l Ba

(B Crow

(e} Eagle

(d) Parrot

Which one of the following spices is 1
floral bud 7

(a) Curnin

(b}  Clove

(¢} Pepper

(d}  Turmeric

Which one of the following is an air

pollutant gas and is released by
burning of fossil fuel 7

(a) Hydrogen
(b} Nitrogen
{c)  Oxygen

{d) Sulphur Dioxide

In the following pairs of plants and
their edible parts, which pair is not
correctly matched 7

(@) Ginger -~ Rhizome
(b) Omion  ~  “Fleshy Leaves
(¢} Potato - ‘Roots

(d) Coconut — Endasperm
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119,

130,

131.

132,

133,

134,

135,

Which. of the following are requirad
for the formation of bones and teeth 7
(@) Sodium and Potassium

(b} Iron and Caloium

{c)  Sodium and Calcium

(d} Calcium and Phosphorus

Which one of the following is not a
plant hormone 7

{a}  Cytokinin (b}  Ethylene
{c) Insulin {d)  gibberellin
One micron represents a length of

{a) 10%cm by  10%em

{€) 1 mm (dy Im

The Eanth's magnetic field is duc to

(a) currents circulating inside the
COre

(b) presence of a huge magnet at its
centre

(c)  moving charges outside in space

(d} None of the above

CT Scan is done by using
{a} Infra-red Rays

(b} Ultrasonic Waves
{c) Visible Light

(d) X-Rays

Which of the following is used for
comecting myopic cyes 7

(a3} Concave Lens

(b} Convex Lens

(¢} Cylindrical Lens

{(d) None of the above

The sky appears blue due to
(2) Difiraction of light

(b) Reflection of light

(c) Refraction of light

(d) “Setteting of light

136.

137,

138.

1.39‘1

Which of the following is thegurpose
for which a transformer is usdd %

{a}) To convert a.c. into d.c.

(b) To convert d.c. into a.c.

() To step-up or slep-down a.c.
voltage

(dy To step-up d.c. voltage

Match List — T with List — 1] and select
the correct answer from the codes
given below the lists :

List =1 Lisi - [1

(Molecules) {Metal Present)
A, Vitamin B-12 |, Magnesium
B. Haemoglobin 2. Cobali
C. Chlorophyll 3. Copper
D. Chalcopyrite 4, Iron
Codes

A B D

(a) 2 4 | k]
by 2 1 3 4
<y 4 1 2 3
@ 3 4 2

Decibel unit is used to measure
(a) Light intensity

(b) Sound intensity

(c) Magnitude of Earthquake
(d}) None of the above

The tail of a comet alilys points
() Away from thg $un

(k) Towards theSui

tcj Towards Narthi=East:

(@) TowardeSoiieiaEp
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145, The minimum he

140, “Blue tooth" technology allows

{(a) Signal transmussion on mobile
phones only

(b) Landline phone to mobile phone
communication

{c} Satellite television communication

(d) Wircless communication between
equipments

141. What is the name given to the ICEM

developed by India with a strike range

of more than 2000 km 7
(a) Prithvi (b}  Trishul
fc}  Akash (d)  Agnill

142, What diies an air conditioner installed

in a raom control ?

{2} Temperature only

(t) Humidity and temperature only
() Pressure and temperature anly
(d)} Humidity, pressure and temperature

H43. Which of the following has the highest

share in power generation in India 7
{a) Nuclear power

{b) Hydro power

(c) Thermal power

fd) Adl the sbove have equal share

144. Why is red light used as a danger

signal ?

(a) Because it is scattered the least

() Because it is comfortable for
eyes

() Bécause it ‘produces the least
chemical reaction

(d) Because it-is ghsarbed the least
in the air '

ght of a plane mirror

to see the full imgge:nf a person s
equal to '

(a) the hc-‘]ﬂlt' i

(b) half the hejp person

(¢) one-fourt et of the person
(d). ..double thedigehiol ihe pgrson

146.

147.

148,

149,

150.

Which of the following pairs is nol

properly matched 7

{a} The largest planet of - Fapiver
the Solar System

{b) The smallest planet — Mercury
of the Solar System

() The brightest planet - Venus
of the Solar System
{d} The slowes) moving - Mars

planct of the Solar
Syslem

The Hiver discase Hepatitis-B is caused
by

(a)  DMA Virus

(b}  BNA Virus

ic) Bacterium

(d)  Plarvhelminth

In a group of 26 persons, § take tez but
not coffee and 16 take tes. The number
of persons who take coffes but not tea
is

{a) 24 (by M
c)] 1% ) 10

In the seres 6, 11, 21, A, 81, the value
of A s

(a) 27 by 4
{c) 5i (d) 49

A réctangular sheet of Alumumum foil
measuring 5 cms by 10 ¢ins is rolled
into a eylinder of height 16 cfis. If the
cost of painting the cylinder is ¥ 2 per
square cm, then the cost of painting
the outer surface of the.gyiinder will
be

{a) 7100 b)) Tis0
() T200 iy 400,
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